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Exercise 1
z = (y2 + 295) (y3 — y2)
Solution 1

0z
Ox

0z

=2y (y° — %) + (v° +22) 3y — 2y)

=2(y’ - v*) 3

Exercise 2 Let f (z,y) =z + 2y. Find f(0,1), f(2,-1), f(a,a), and
f(a+h,b)— [(ab).

Solution 2
a) f(0,1) =
b) f(2,-1)
c) f(a,a) = 3a
d) f(a+ h,b) — f(a,b) = h

Exercise 3 Calculate the partial derivatives of

a) z = byd +4daty + 3273 + 20yt + 20+ 3y +5
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b))z = —F—

) 23+ 1

)z = (2Py+1) (zy®+1)

Solution 3
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a) a—; = 1623y + 6xy® + 2" + 2
0

a) a—; = 25y* + 42" + 92%y* + Sxy® + 3

b) 0z (@’ +1) —ay’ Quy’) P — 2y
O (229 + 1)° (229 + 1)°

b) 0z 2xy @y’ +1) —axy® (B2%y?)  —2Py' 4 2ay
dy (2293 +1)° (2293 +1)°
0z

c) Pl (9x8y) (xyS + 1) + (a:gy + 1) (yg) = 102%° + 92°%y + ¢°
0

c) S (2) (zy® +1) + (2”y + 1) (Bzy") = 929" + 2” + 8zy”
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Exercise 4 Find all second derivatives 53, Byo5 Drdg and o2 of

a) z = br’y+ 3%y + 5y°
b) z = (x2 +y3)5

Solution 4 a)
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Exercise 5 For the production function
Q= K5L5 + 3K +2L°
determine the marginal product of labour and capital.

Solution 5
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